3.3.24 On meéne par le point A(4; —4) les tangentes au cercle 2% + y?> = 6z — 2y — 5.
Calculer la longueur de la corde passant par les points de tangence.
contact .

(¥): (-3 4 )" =513+
-+ (y10)' = 5
ombre  C(%;-1) ok Mg =5

Polaire . (4-2)(x-3) 1 (=4 +) (yt4) =5
X =% =3 -3 -5 =)
(p): x-2y-M4=D0

(PO{,W&S (1.0- COW‘?R.C& s

X" 49> —6x 27 +5=0
2 X= 2N M
Sobgtitooms :
(B4 + ¥o- 68Y«t) + 2y 5 =D
‘5\,2 + 66\[ +421 +‘[7'-—4?~/ 6+ 275 =0
A0y® +S0Y + 66 =D
NPt By +6 =D
Ly + 2)(y+3) =0
Aensi N=-2 X= —6-fM4 =5 T7('5-,—2)
[ N=-% X = -9+4 =29 T, (2 -3)
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